EARAROBEEIERT — 2 N— IBISH —F

20185F8H 220 (k) 11EE&HE2H

Il B 548 5 R—#% (xwlw | lmEmml - |5 @) w8
[A&4] 1 %:250,00 M ~ 23%&:63,000H ~ 33#&:30,000H  43#%:20,000MH  57%:13,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
p— 5 a1 |391| — WTEA (BHE)
N  BESYEIS S B4 SHm 1(4_5)0 4-4-4-1 | 39.1 1 (45378) %mlﬁ%z&
RiZAT— hE—1 BAYTLIL—> 55> K
N PUTTPEEN > 7 | DIEEEZ 1:45.5 1-1-1-1 | 40.2| — 4 482 | TTOBEF] (BEHE)
2 11 EV=TH%T> ~ 7 56,0 @ 1/2) @7) | () J PN
YTy BiIN—ILTH— BEZZY K
j = 4 4 | HRA 1:45.7 7-7-5-5 | 39.7| — 2 467 | BTIBE—B (2ER)
3 2 I7T7I4R 54.0 (11/2) (+4) [E3:3=FS
LNn—ErTv— BIEXRZR- J=HrTrp—L
. = 4 8 | ALE— 1:46.0 8-8-8-6 |39.8| — 6 480 |ROTEE (BHE)
4 W 4 o4 70-> 54.0 (1 1/2) 0 KHREA
R ZZHR KR B:Z2ZXAH70-5 V5 &) 4G
=, q=_ = 44 | AEFBSR 1:46.0 3-3-3-4 |40.4| — 3 44 | BRC (BEHE)
5/7/71772¥37—-7— 56.0 (7€) (-5) | RBREET
R:7Rvq4vav—-> B:5Y97—X7—5— FEX 2V K
5 = i 4 | EHEE 1:46.1 2-2-2-3 |40.6| — 5 437 | WOFEE (BHE)
6(8|9|YTY—RATA 54.0 (1/9) © | (B J PN
R:TFyIa4K B:FOUTRNTy R B
- . = BEE : -9-0— — ATK (BHE)
o RERA it 6 e 1.?363.8 9-9-9-9 | 40.0 10 <4+813) A
Z:d=IWK7Ua—=b B:7LALN=F BItHFREEMASHIAT S
3 3 © RZAiZE 146. -6-6- . — $REEX (BHB)
sfc 513y oLy G = Gae | 70T PG |meake
RATARTIIN BYZTILHCR FHI)Tr—L
AR :47. ~5-7- . — B (BEE)
olsls | aRENZ PN 46 X2 1(437)5 5-5-7-8 | 41.3 7 12;6 fﬁiﬁ*uﬂz
R:wYyYFddyk B:vAMZIAAL—K EvilLy RT7—L4
2 . 4 5 | BERR— 1:48.5 10-10-10-10| 41.6 | — 9 429 |FEBS (BHE)
10/ 8|10| 7L 7 AL E> 54.0 5) Loy | (B K=2%T
RV TATIA LR BELTI T A B
® 1—F—@EBIERL
1T=7r= 1,9,7,3,5,6,2,4,8,10
23— — 1,9,7,3,5,6,2,4,8,10
Ja=5= 1,9,7,3,2,6,5,4,8,10
AT =5F= (1,3),9,7,2,(4,6),5,8,10
[ N5
B OB 3 1400 | | 74 K 1-3 220/ | | B E 1-3 360/ | | 3R 1-2-3 540/
B B 3 110 2-3 160M B = 1-3 330M EE 3-1-2 1,400
1 200M 1-2 330M B H 3-1 510M
2 140/

ABICOVWTRDTEEERROODE. TR LIV,




